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emp_id X ERID salary: #a%

B E4XF. SXFUT OB BFRR—Z AN name: Al birthday: L% B
gender: 1§ dep.id: ERZEID
C:\Users\O O\O>cd SQLite3 AZR2OXFE, 19XFLUTDEHEEAR—XIFEMAEL
C:\Users\O O ®\sQLite3>sqlite3 sampledb
SQLite version 3)\50.2 2025-06-28 14:00:48
Enter ".help" for Ysage hints. T—R 7Y 2z
?)?llte::rzwe;t?dtiﬁl\r(impl?ma(:y( key not null char (X) B 7€ £ 3 51| & (char=charavter)
(x1...> name varchar(20) not null, varchar (X F#) | Al Z K X FFE (varchar=variable character)
(x1...> gender char(1) check(gender in (‘M','F')), int FEIF (int=integer)
(x1...>salary int check(salary >=0), P
(x1...> birthday date, real EHE
Exi...> ;Jlep_id char(2) date =RDEi)
x1...>);
sqlite>
i 44 Ha B
create table department ( primary key FrX—  ZEL-EZEEFHZK TS
dep id char(2) primary key not null, not null SR ol y
name varchar(40) not null unique NullZ 3% TS5
); unique thEEELI-EZE X TEEN
check FHIZ—BL-EZZEHR TS




T—3AN

sqlite> insert into employee values ('E001','& £ A ER','M',52000,'1974-01-01','D2");
sqlite> insert into employee values (‘E002','¥&x - 1EF','F',45000,'1979-04-01','D1');
sqlite> insert into employee values ('E003','&3 AR X ER','M',38000,'1981-04-01','D3");
sqlite> insert into employee values (‘E004','LlLUE B ;T','F',27000,'1993-04-01','D2");
sqlite> insert into employee values ('E005',' AT % =F','M',36000,'1984-09-01','D3");
sqlite> insert into employee values (‘E005*, £ & A F',F,32000,/1991-03-01",null);

sqlite> insert into department values('D1', ¥875ER");
sqlite> insert into department values('D2',' #& I ER");
sqlite> insert into department values('D3',' & = &}");
sqlite> insert into department values('D4',' GHFEER");

sqlite>
+RTOFIERE FRELI I T ERERT S

sqlite> select * from employee; sqlite> select name, salary from employee;
E001| & L AER|M|52000|1974-01-01|D2 & T K ER| 52000

E002 | #2 3£+ | F|45000|1979-04-01|D1 ¥ FHTEF| 45000

E003 | #5 KR ER | M|38000|1981-04-01|D3 8 AR ER|( 38000

E004 | ILUE B ;I |F|27000|1993-04-01|D2 LLIE BT 27000

EO0S | & #% ¥|M|36000|1984-09-01|D3 HiE % |[36000

E006 | {Z B FE F | F| 32000| 1994-09-01 | {E &R EF( 32000

sqlite> sqlite>
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sglite> select name, salary from employee where salary >= 30000;

&= T KER|52000
¥ FTEF| 45000
£5 KR ER | 38000
B =£|36000
1 EF (32000
sqlite>

FHERFRFITTERERET S

sqlite> select name, salary from employee
...> where salary >=30000 and gender = 'M’;

&= T AER|52000
£5 KR ER 38000
& 36000
sqlite>

HEELHEAZRET D

sqglite> select name, birthday from employee
...> Where birthday between '1970-01-01" and '1979-12-31";
=1 KE}|1974-01-01
e TEF|1979-04-01
sqlite>

BREREGEREIYBILCHBEDITZEY RS

sqlite> select dep_id from employee;

D2
D1
D3
D2
D3
sqlite>

sqlite> select distinct dep_id from
employee; E71 54

:> D2
D1
D3

sqlite>
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sqlite> select name, salary from employee order by salary desc;
= 1 XEB|52000
¥ 3 TEF| 45000
#H KR ER 38000
e ¥(36000
% B (32000
LA B ;T|27000

sqlite>

BREHEEIOIYHET T—2FFIRET S salaryD1HF B ~3EBHZEZR T~

sqlite> select name, salary from employee order by salary desc limit 0,3;
&= 1T AKER|52000
¥ HTEF 45000
#H AR ER 38000

sqlite>
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